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= pO 4295+ 0.0
pl -36.56 + 0.00
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== po 4282+ 0.0
pl -36.03 + 0.00
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TVC(c,b ch) (0 7,9

<1 num, 155e+U5 / 25
po 4292+ 0.0
p1 -36.48 £ 0.00
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T inun.pr3e+U5/ 25
pO 4289+ 0.0
p1 -36.37+ 0.00
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TVC(cbch) (0,7,6

=10 /be+u5 / 25
- pO 4279+ 0.0
[ pl -35.24+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

1 nuiz,208e+U6 / 25
- po 4298+ 0.0
- pl -35.82+ 0.00
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= po 4269+ 0.0
pl -34.59 + 0.00

“1nug /4/e+U5/ 25

TP delay [ns]
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- e

1 nuzzo1e+U6 / 25
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1
50 00

TP delay [ns]

TVC(c,b ch) (0, 7 15

E pO 4299+ 0.0

1 nus, 330e+U5 / 25

-35.96 + 0.00
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-34.93+ 0.00

[ C =28.63 [ps/ch]
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TP delay [ns]

TVC(cbch) (O 8,8

1L 5/e+U5 / 25

- PD 4293+ 0.0
pl -36.34 + 0.00
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4290+ 0.0
-35.61+ 0.00
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__ DO 4324+ 0.0
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pL -36.43 + 0.00
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TP delay [ns]
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-
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pL -36.29+ 0.00
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- rnuiz lg3e+ud [ 25
po 4239+ 0.0
pl -35.38+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (O 9,8

i 344e+05 / 25
pO 4271+ 0.0
pl -35.33+ 0.00
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pO 4270+ 0.0
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TP delay [ns]
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- 1 nuz.d04e+04 | 25
po 4256+ 0.0
pl -35.26 + 0.00

TP delay [ns]
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T nu.s2/e+U5 / 25
pO 4259+ 0.0
pl -35.05+ 0.00
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T inugnz/e+u5/ 25
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pl -34.29 + 0.00
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po 4270+ 0.0
p1 -36.52+ 0.00
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TP delay [ns]
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pO 4287+ 0.0
pl -36.32+ 0.00
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TVC(c,b ch) (0, 9 15

T a2y /e+U5/ 25
po 4271 0.0
-34.71+ 0.00
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- nu320e+04 [ 25
=5 po 4285+ 0.0
pl -36.52+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 10,8

- 11, 10ae+04 1 25
e, pD 4271 0.0
p1 -35.19+ 0.00

TP delay [ns]
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T g gs3e+Us / 25
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pl -36.45+ 0.00
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1 1
50 100
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TVC(c,b Ch) (0, 10 5
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- pO 4294+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

~ 1 nuiz 7Use+U5 / 25
4287+ 0.0
-36.4 + 0.0
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pO 4306+ 0.0
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- pO 4293+ 0.0
[ pl -36.64 + 0.00

X~ 1L 89se+u4 [ 25
- po 4270+ 0.0
N p1 -34.58+ 0.00

TP delay [ns]

TVC(e,b,ch)=(0, 10, 10

T 1nuiL433e+U6 / 25
= po 4298+ 0.0
F pl -36.34 + 0.00
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= Uiz b5Ye+US / 25
po 4312+ 0.0
pl -37.04+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 11

1 nuiL b45e+U6 / 25
k. pO 4292+ 0.0
p1 -34.86 £ 0.00

TP delay [ns]

TVC(cbch) (0, 10 15

Tina o B/e+us /25
- pO 4307+ 0.0
p1 -36.94 + 0.00

TP delay [ns]
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X~ 1L srze+04 /25
- po 4214+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (o, 11 4

- iUz re+u4 [ 25
= po 4219+ 0.0
pl -33.98 + 0.00

[ C =29.43 [ps/ch]
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TP delay [ns]

TVC(cbch) (o, 11 8

_ -1 s obe+U4 | 25
e, pD 42413 0.0
p1 -34.58:+ 0.00

TP delay [ns]

TVC(c,b Ch) (0,11,12

X~ 1 1w ysse+Us / 25
po 4261+ 0.0
pl -35.46 + 0.00

L n n n n 1 n
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e, po 4217+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 11 5

T nu b ge+ud [ 25
e, pO 4247+ 0.0
p1 -34.78+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 11

~ 1 nuwg, 119e+05 / 25
pO 4257+ 0.0
p1 -34.49 + 0.00
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L pl -35.03+ 0.00
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-1, 2oBe+u4 | 25
- pO 4268+ 0.0
[ pl -35.86 + 0.00

TP delay [ns]

TVC(e,beh)=(0, 11, 10

X~ 1L 8Y1e+U6 / 25
po 4237+ 0.0
p1 -33.97  0.00
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X~ 1rnuig 1zze+U5 /25
e, po 4270+ 0.0
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- po 4240+ 0.0
pL -34.94+ 0.00

TP delay [ns]

TVC(CbCh) (0, 11 7

=1 i by3e+us / 25
e, pO 4247+ 0.0
p1 -34.06+ 0.00

TP delay [ns]

TVC(Deh)=(0, 11, 11

- T nuiL rbze+u6 / 25
po 4256+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b Ch) (o, 11 15)

Tinun13/e+U5/ 25
pO 4259+ 0.0
p1 -34.63+ 0.00

TP delay [ns]
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pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (0,124

T zo/e+u4 [ 25
- pO 4278+ 0.0
pl -37.71% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

1L uzoe+U5 / 25
= po 4260+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,12, 12

~ 1, 33pe+U5 / 25
pO 4269+ 0.0
pl -35.43+ 0.00
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=1 U boge+u4d [ 25
e pO 4269+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

- /U 34 7e+U5 ] 25
e, pO 4273+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(cbch) (012,13

T nup.by/e+u5 /25
frvase pO 4271+ 0.0
pl -35.93+ 0.00
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_- po 4273+ 0.0
o pl -36.37+ 0.00
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TP delay [ns]

TVC(cbch) (0.12,6

-1 U yose+ud / 25
e pO 4270+ 0.0
[ pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

1 nuiL 38be+U6 / 25
e po 4283+ 0.0
o pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0.12,14

1 nu,pyve+Us / 25
pD 4277+ 0.0
pl -35.55+ 0.00
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pl -36.86 + 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

~ a2 bbe+us [ 25
- pO 4294+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(eb.eh)=(0, 12, 11)

Il 276406125
po 4291 0.0
-36.29+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T na ysze+u5 [ 25
4277+ 0.0
-36.01+ 0.00

TP delay [ns]
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~ 1 nuz47oe+04 [ 25
pO 4274+ 0.0
p1 -35.9.+ 0.0
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- 1 g 269e+U4 [ 25
=5 po 4293+ 0.0
pl -36.91+ 0.00
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TVC(eb,oh)=(0, 13,8)
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4000 o pO 4310+ 0.0
-34.28+ 0.00
3000 - 71
2000 7]
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TVC(chh) (0,13,1)

AT 1 nuzoyze+u4 | 25
= po 4274+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

- 11U U34e+U5 / 25
e, pO 4294+ 0.0
pL -36.92:+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 13, 9

T nuiz.yble+us / 25
- pO 4325+ 0.0
p1 -34.17 + 0.00

[ C =29.27 [ps/ch] ™. ]
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TVC(Cbch) (o, 13 6

- 11Uy bzge+U5 / 25
- pO 4313+ 0.0
[ pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T nuzg1/e+U6 / 25
po 4342+ 0.0
p1 -34.42 + 0.00

- C =29.06 [ps/ch] ™. 1
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TVC(c,b Ch) (0, 13 7

= iy, (Qoe+us / 25
= po 4301+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(Cbch) (0, 13 11

T nuis.4u/e+U6 / 25
pO 4339+ 0.0
pl -35.36 + 0.00

TP delay

TVC(cbch) (0, 13 15
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T inuiLsu/e+u6 / 25
4313+ 0.0
p1 -36.32+ 0.00
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TVC(Cbch) (o, 14 4

i 2.24e+04 [ 25
== po 4259+ 0.0
pl -34.64 + 0.00

[ C =28.87 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (0, 14 8

1L, ruse+U5 / 25
= po 4256+ 0.0
pl -35.29+ 0.00
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TVC(Cbch) (o, 14 12

- rnun.yole+us / 25
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~1nug, r19e+U5 / 25
DD 4274+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

e, po 4265+ 0.0
pl -35.79+ 0.00

AT s 1zse+u4 [ 25

TP delay [ns]

TVC(c,b ch) (2 3,7

F pO 4249+ 0.0
p1 -34.95+ 0.00

-1 nu Zgye+us / 25

TP delay [ns]

TVC(c,b ch) (2, 3

-

T, /‘Jée+U6/25
4301% 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (2,315

Fvene pO 4276+ 0.0
pL -35.76 + 0.00

1y, 132e+U5 / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

T Loae+ud /25
pO 4262+ 0.0
p1 -34.93 + 0.00

TP delay [ns]

TVC(cbch) (24,4

- L 7oye+ud [ 25
po 4268+ 0.0
pl -35.79+ 0.00

- C =
o+ o
TP delay [ns]
TVC(cbch) (2 4,8

T 1nug.344e+04 / 25
po 4306+ 0.0
pl -38.26 + 0.00

TP delay [ns]

TVC(cbch) (2,4,12

po
p1

T rnug.ysze+us / 25
4295+ 0.0
-34.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

[ C =29.01 [ps/ch]

AT 1 nuiL, r8be+u4 [ 25
po 4247+ 0.0
pl -34.47 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

-1 nui /ube+u4 [ 25
pO 4277+ 0.0
pL -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

T a4l /e+U5/ 25
pO 4307+ 0.0
p1 -37.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

pO
p1

Tinuazple+us /25
4281+ 0.0
-34.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (2,4,2)

X~ 1 iz 01oe+u4 [ 25
F-. po 4256+ 0.0
[ p1 -35.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

©1nu,104e+04 / 25
- pO 4289+ 0.0
- pl -36.77 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

1 nuiL403e+U6 / 25
po 4320+ 0.0
pl -36.93 + 0.00

TP delay [ns]

TVC(cbch) (24,14

T rnuizyrze+U5 /25
4284+ 0.0
pl -34.98 + 0.00

pD

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3)

i Zuserud | 25
B pO 4280+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2 4,7

-1 U 2u8e+u4 / 25
- pO 4284+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T bue+u6/25
k. pO 4325+ 0.0
p1 -37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

-1 nug.yove+u5 / 25
4287+ 0.0
-34.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (2,50

X~ 1w 5yse+U4 [ 25
= po 4273+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(cbch) (2,54

-1 nuLyuze+ud / 25
- pO 4247+ 0.0
p1 -36.33+ 0.00

4000
3000~ 7
2000 - ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2,5,8)
~ 1 nuiLUb3e+U5 / 25
4000 [, 4267+ 0.0
-34.38 + 0.00
3000 - 7
2000 = ]
-
o C =29.09 [ps/ch] ™, 1]
1 1 -
0 50 100
TP delay [ns]
TVC(c,b ch) (2, 5 12)
Tinun . ive+u5 /25
4000 [, po 4281+ 0.0
pl -34.67 + 0.00
3000 - 7
2000 - 7
1000~ 7]
1 1 -
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT 1 nuiL ssse+U4 [ 25
= po 4266+ 0.0
p1 -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nuz.0gbe+u4 / 25
- pO 4259+ 0.0
p1 -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

<1 nui/ pb3e+us / 25
= pO 4284+ 0.0
p1 -34.26+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

T a3 74e+U5 / 25
4290+ 0.0
-33.86+ 0.00

[ C =29.53 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,52)

TP delay [ns]

TVC(cbch) (2,556

T Lsoe+ud /25
_- pO 4281+ 0.0
[ p1 -36.51+ 0.00

3000

T rnug.2ze+04 | 25
- pO 4260+ 0.0
[ pl -35.92+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

1000

1 nuiL49pe+U6 / 25
= po 4293+ 0.0
[ pl -34.7+ 0.0

TP delay [ns]

TVC(Cbch) (2, 5 14

pD

~1nugusLe+Us / 25
4297+ 0.0
pl -34.77 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

A~ 1 nuiz523e+U4 [ 25
- po 4281+ 0.0
pL -36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (2 57

- 1nug 132e+U5 / 25
pO 4264+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T bbde+l}6/25
k. pO 4298+ 0.0
p1 -34.18 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 5 15

- g, 34e+U5 / 25
4282 0.0
-34.51+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0)

A7 zse+V4 /25
po 4255+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (26,4

T LB ze+u4 | 25
pO 4319+ 0.0
pl -35.99+ 0.00

0

- C =
- o
TP delay [ns]
TVC(cbch) (2 6,8) —
T nug 3o4e+U4 5
- pD 4302:‘
-34.63+ 0.00
[C=28.88[ps/ich] ™, ]
- o
TP delay [ns]
TVC(cbch) (2, 6 12)
-1 b8se+ud / 25
- A278:‘
-32.76 + 0.00
[ C=230.53 [ps/ch] "]

1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nuzo1oe+ud [ 25
e po 4264+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

~1nuibz/e+u4 [ 25
- pO 4320+ 0.0
-34.77+ 0.00

[ C =28.76 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T nug14ze+04 / 25
- po 4322+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (2,6,13

Tinusu/e+ud [ 25
pO 4285+ 0.0
p1 345+ 0.0

[ C =28.98 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,2)

K71 nuigszoe+u4 /25
. po 4273+ 0.0
- pl -36+ 0.0

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.34 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

-1 nu,yoye+Us / 25
- po 4342+ 0.0
L pl -36.24 + 0.00

- nuz 118e+04 / 25
- pO 4315+ 0.0
[ pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (2,614

1 nuiz,yyve+ud | 25
pD 4290+ 0.0
pl -35.13+ 0.00

F C = 28.47 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1rnus.usLe+ud [ 25
o po 4278+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,7

- nui gl/e+u4 / 25
- pO 4317+ 0.0
-34.7+ 0.0

[ C =28.82 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

Ry m,ews/zs
- pO 4335 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T inug.zroe+ud [ 25
4298+ 0.0
-34.7+ 0.0

I C =28.82 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A~ 1 nui roye+u4 / 25
po 4259+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (2,7,4

T zsze+u4 | 25
pO 4244+ 0.0
p1 -34.77:+ 0.00

[ C =28.76 [ps/ch] ]
_ T
TP delay [ns]

TVC(cbch) (27,8

1z, 3ze+U5 | 25
pO 4263+ 0.0
-35.19+ 0.00

TP delay [ns]

TVC(Cbch) (2, 7 12

T rnuy.us1e+us / 25
po 4269+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,7,1)

AT 1 nuiz,19ve+u4 [ 25
po 4267+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

“1nug.4p/e+04 [ 25
pO 4244+ 0.0
p1 -34.78+ 0.00

TP delay [ns]

TVCebeh)=(2,7, 9

-/ 1'Use U6 1 25
pO 4266+ 0.0
pL -34.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

T nup.b/3e+U5 / 25
pO 4260+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

4000

2000

4000
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,7,2)

1000

X~ 1wz 5ase+U4 [ 25
- po 4281+ 0.0
L pl -37.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

1000

-1 9u4e+u4 [ 25
4273+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (2,7,10

T 2.Z0e+U6 / 25
po 4263+ 0.0
p1 -35.02 % 0.00

TP delay [ns]

TVC(Cbch) (2, 7 14

T 1ase+u5 /25
pD 4277+ 0.0
p1 359+ 0.0

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

AT 1 nur.yuBe+U4 / 25
po 4278+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-1 nug.broe+us / 25
e, pO 4263+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

- Mg, 45:,e+u6 125
pO 4280+ 0.0
p1 -35.07+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

Tinum.15/e+U5/ 25
po 4275+ 0.0
-36.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

AT rore+U4 /25
po 4272+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- i B13e+ud / 25
pO 4285+ 0.0
p1 -34.59+ 0.00

[C=28.91[ps/ch] ™, 1
% o
TP delay [ns]
TVC(cbch) (2 8,8

©1nuy,153e+04 / 25
po 4288+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (2,812

Ty pLoe+Us / 25
po 4314+ 0.0
pl -35.87 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1nuiLBz/e+u4 [ 25
- po 4290+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

- 1nu 143e+04 / 25
- pO 4281+ 0.0
pL -33.77:+ 0.00

[ C=29.61[ps/ch] ™_ 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

1 nu.4n4e+U5 / 25
= po 4285+ 0.0
pl -35.13 + 0.00

TP delay [ns]

TVC(C, bch) (2,813

T nuisp/oe+U5 / 25
= pO 4300+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (2,8,2)

4000

2000

1000

K™ 1 nuig 1use+ud / 25
__ po 4293+ 0.0
- pl -35.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (28,6

4000

3000

2000

1000

- C = 29.25 [ps/ch] .

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

4000

3000

2000

1000

T rnuiy131e+04 / 25
- pO 4298+ 0.0
[ pl -34.19 0.00

T nuiL b4 e+U6 / 25
po 4296+ 0.0
p1 -34.6 + 0.0

- C = 28.90 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,8 14

4000
3000
2000

1000

T 1nuy.45/e+U5 / 25
4312+ 0.0
-35.91+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT 1 nus.bsve+ud [ 25
o po 4278+ 0.0
pl -33.73+ 0.00

[ C=29.64[ps/ch] ™ 1
L -

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 U Yo3e+us / 25
- pO 4308+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

EEALEVX u54e+u6/25
k. pO 4312+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

TinaiL10/e+U6 / 25
e pO 4321+ 0.0
p1 -37.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(cbch) (2,9,0)

X~ 1z uyse+ud [ 25
4214+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(cbch) (2,94

T4 r5e+04 [ 25
4263+ 0.0
-37.31+ 0.00

e pO
pl
- C =
o =
TP delay [ns]
TVC(c,b ch) (2, 9 8
= pD

i be4e+U5 / 25
4260+ 0.0
-35.44 + 0.00

p1

TP delay [ns]

TVC(Cbch) (2, 9 12

po
p1

T g zzze+05 / 25
4255+ 0.0
-36.38 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (2,9,1)

- po

A~ 1 i 4ave+Uad | 25
4232+ 0.0
pL -37.18 0.00

TP delay

TVC(c,b ch) (2 9,5

[ns]

-1 nug.ULzZe+u4 / 25
4269+ 0.0
pl -37.96 + 0.00

TP delay

TVC(c,b ch) (2 9,9

e, po

[ns]

T nuy.4/9e+U5 [ 25
4266+ 0.0
pl -35.06 + 0.00

TP delay

TVC(c,b Ch) (2, 9 13

[ns]

T nuignz3e+u5 / 25
4249+ 0.0
p1 -35.87+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (2,9,2)

A1

b po
p1

2.4e+04 125
4235+ 0.0
-34.99 + 0.00

TP delay [ns]

TVC(cbch) (29,6

T b bYe+u4 / 25
- pO 4258+ 0.0
- pl -35.98 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

pO

pl

T nuiL43/e+U6 / 25
4283+ 0.0
-35.04 + 0.00

1
100

TP delay [ns]

TVC(Cbch) (2, 9 14

pD
pl

Ty 3rze+05 / 25
4260+ 0.0
-36.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

B po

X1z S11e+ud | 25
4218+ 0.0
-34.79+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 9,7

-1 nui b3ye+us / 25
4288+ 0.0
-37.88 % 0.00

o pO
pL
- C =
1 1 -'-
50 100
TP delay [ns]

TVC(c,b ch) (2,9,1

X~ g,
pO
pl

/51e+u6 125
4278+ 0.0
-35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 9 15

~ 1 nug.p44e+U5 / 25
4253+ 0.0
-36.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,10,0)

K™ 1 g ze+U4 /25
- po 4224+ 0.0
p1 -35.82+ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 4

- Inuz029e+04 [ 25
== po 4253+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (2,10,8

Truwn114e+05/25
- pO 4275+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

-1 nu.y4pe+U5 / 25
po 4288+ 0.0
pl -35.35+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

AT rnuiLr/1e+U4 /25
- po 4224+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

-1 U zobe+u4d [ 25
- pO 4251+ 0.0
p1 -34.31% 0.00

[ C =29.14 [ps/ch]

50 150
TP delay [ns]

TVC(ebeh)=(2, 10,9

TinuiL1Z1e+U6 / 25
- po 4288+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 10 13

T inug.sb/e+u5/ 25
fovase pO 4285+ 0.0
p1 -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

K™ nuig s8ae+04 | 25
-, po 4252+ 0.0
L p1 -36.67 £ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 10 6

~ U base+04 [ 25
- pO 4285+ 0.0
[ pl -35.83+ 0.00

TP delay [ns]

TVC(e,beh)=(2, 10, 10

T 1L bz1e+U6 / 25
po 4319+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

©1nug zsze+U5 | 25
F pD 4285+ 0.0
L pl -35.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10,3)

xrma 7 ss2/25
- po 4253+ 0.0
pL -36.02. 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

-1 nuz 9ze+us | 25
po 4278+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(ehch)=(2,10, 11

T 1 nuiz 19Ye+u6 / 25
po 4321+ 0.0
p1 -37.08:+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

T num.z44e+U5 / 25
= 4278+ 0.0
-34.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

X~ 1w syse+U4 [ 25
= po 4234+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

- iU 9gYe+u4 / 25
== po 4244+ 0.0
pl -34.65+ 0.00

[ C =28.86 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (2,11,8

i 149e+05 / 25
= po 4268+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 12

Trnuggr1e+U5 /25
= po 4284+ 0.0
pl -35.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 11 1)

-1 ydve+Ud 25
== pO 4250+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 5

=1 Ui ygbe+u4 / 25
e pO 4252+ 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(cbch) (2,11,9

~ 1 nuy. y1be+us / 25
po 4278+ 0.0
pl -35.65+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 11 13

T inuigs33e+U5 / 25
pO 4283+ 0.0
p1 -35.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,11, 2)

X~ 1 i yoze+u4 [ 25
-, po 4259+ 0.0
L pl -36.16 + 0.00

3000

TP delay [ns]

TVC(chh) (2, 11 6

T g 123e+04 [ 25
e pO 4261+ 0.0
[ pl -35.73+ 0.00

TP delay [ns]

TVC(ebch)=(2, 11, 10

X~ 1 i byse+U6 / 25
po 4284+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(c,b Ch) (2,11, 14

X~ 1 g ysye+Us / 25
- po 4293+ 0.0
[ p1 -35.97 + 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

- po 4259+ 0.0
pL -35.75+ 0.00

A1z za1e+04 [ 25

TP delay [ns]

TVC(CbCh) (2, 11 7

= po 4267+ 0.0
p1 -35.59 + 0.00

-1 nui 488e+U5 / 25

TP delay [ns]

TVC(Ebeh=(2, 11, 11

E pO 4270+ 0.0
pl -34.76 + 0.00

1 nuiL, 139e+U6 / 25

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

E po 4286+ 0.0
p1 -35.49  0.00

1 nu UsBe+US / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

- 1 i soae+u4 [ 25
= pO 4256+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

- iU goYe+u4 / 25
=5 po 4278+ 0.0
-36.1+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,12,8

- i, 50ve+U4 | 25
- po 4257+ 0.0
-34.66+ 0.00

I C =28.86 [ps/ch]

1
50 00

TP delay [ns]

TVC(Cbch) (2, 12 12

pO

p1

-1 yuze+Us / 25
4297+ 0.0
-35.88 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

AT 1 nuz,1ove+u4 [ 25
= po 4269+ 0.0
p1 -38.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 5

T nan2.29e+04 [ 25
== po 4289+ 0.0
-36.5 % 0.0

50 150
TP delay [ns]

TVCEebeh)=(2 12,9

T 1 nup.301e+U5 / 25
- po 4277+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 12 13

~ 1 nui ysze+u5 [ 25
4278+ 0.0
-34.62+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(CbCh) (2,12,2)

X~ 1z zige+u4 [ 25
- po 4279+ 0.0
L pl -37.26+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 12 6

- g z8ze+u4 [ 25
- pO 4294+ 0.0
[ pl -36.46 + 0.00

TP delay [ns]

TVC(Ee b eh)=(2, 12, 10

- /L 154e+06 / 25
— pO 4279+ 0.0
[ pL -34.75 % 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

1000

pD
pl

~1nuig,1uve+Us / 25
4294+ 0.0
-35.57 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

A1z 17804 ] 25
B po 4276+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 7

= Ui boye+us / 25
po 4323+ 0.0
p1 -37.37 + 0.00

TP delay [ns]

TVC(eheh)=(2, 12, 11

71 nuiL498e+U6 / 25
e, po 4280+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 12 15

- g zy4e+U5 [ 25
4282 0.0
p1 -34.86 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (2,13,0)

A1,

r1ve+u4 /25
4263+ 0.0
-36.63+ 0.00

TP delay [ns]

TVC(cbch) (2,134

T r4/e+04 [ 25
o pO 4305+ 0.0
pl -39.91+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

1 nuz.402e+04 | 25
= po 4262+ 0.0
p1 -35.85+ 0.

-35.85 + 0.00

TP delay [ns]

TVC(cbch) (213,12

pO
p1

Tz ss1e+U5 / 25
4283+ 0.0
-36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (2,13,1)

X

po
pL

L syoe+u4 | 25
4281+ 0.0
-36.35+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,135

- U Ba3e+u4 [ 25
pO 4307+ 0.0
pL -39.38+ 0.00

TVCEben)=(2 13,9

TP delay [ns]

pO
pl

1 nuis, 78be+U5 / 25
4277+ 0.0
-34.57 + 0.00

1
100

TP delay [ns]

TVC(cbch) (213,13

T nuiLboze+u5 [ 25
4278+ 0.0
-35.83+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

A"

po
pl

1 nui syye+ud [ 25
4271+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (2,136

-1 nuig zu5e+04 / 25
pO 4318+ 0.0
pl -39.51+ 0.00

TP delay [ns]

TVC(cbch) (2,13,10

pO
pl

1 nuiLyeYe+U6 / 25
4284+ 0.0
-35.06 + 0.00

1
100

TP delay [ns]

TVC(cbch) (2.13,14

pD
pl

T rnuiLoE1e+U5 / 25
4280+ 0.0
-35.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

X

po
pL

1z, zz9e+U4 [ 25
4285+ 0.0
-36.83+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

=1 nui uuze+us / 25
pO 4316+ 0.0
pL -38.95+ 0.00

1 -
50 100
TP delay [ns]

TVC(ebeh)=(2,13, 1

Tonanz2.z1e+04 1 25
4299+ 0.0
-36.18 + 0.00

1
100

TP delay [ns]

TVC(cbch) (2,13,15

T nui gsze+U5 /25
4281+ 0.0
-35.43+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 14 0)

- i go1e+04 [ 25
= pO 4231% 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(Cbch) (2, 14 4

S rnaiza11e+ud / 25
- pO 4242+ 0.0
p1 -36.74 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,14,8

T/ /e+U5 /25
- pO 4284+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

T rug.yore+us / 25
po 4263+ 0.0
pl -35.46 + 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT 1 nuiLBb3e+u4 / 25
- po 4235+ 0.0
p1 -35.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

~ 1 nu zave+u4 [ 25
e pO 4271% 0.0
pL -37.17 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

<1 nuiLyyse+u6 / 25
4297+ 0.0
-37.01+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 14 13

Tinug1s/e+U5/ 25
- pO 4265+ 0.0
p1 -36.83+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (2, 14 2)

- rnuzurve+u4 [ 25
= pO 4234+ 0.0
L pl -35.65+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 14 6

-1 nuig, 1obe+u4 / 25
4274+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(e b eh)=(2, 14,10

Tnun1o8e+U6 / 25
= po 4304+ 0.0
- pl -36.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

-1z, psse+Us / 25
pD 4264+ 0.0
pl -36.02 + 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

A1 nuaizuase+ud | 25
= po 4237+ 0.0
p1 -34.61+ 0.00

[ C =28.90 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (2, 14 7

= nun1.14e+U5 /25
po 4267+ 0.0
p1 -35.91+ 0.00

TP delay [ns]

TVC(ehch)=(2, 14, 11

T nuiLB31e+U6 / 25
k. pO 4307+ 0.0
-37.16+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 15

T nup.urse+Us /25
Froees, po 4261+ 0.0
p1 -35.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (2, 15 0)

© L ssoe+u4 / 25
= pO 4232+ 0.0
p1 -35.55 + 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

-z 183e+04 / 25
- pO 4247+ 0.0
p1 -35.55+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,15,8

- g, 151e+04 1 25
- po 4269+ 0.0
p1 -36.57+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 12

Tz 3r3e+U5 /25
pO 4270+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 5,

3000

2000

1000

TVC(chh) (2,15,1)

X1 Lydrerud | 25
e, po 4243+ 0.0
pL -35.43+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 5

- U 3obe+u4 [ 25
= 4242+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch] 7]

50 150
TP delay [ns]

TVC(ebeh)=(2 15,9

<1 nuw.zope+u5 / 25
pO 4284+ 0.0
p1 -35.81+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 15 13

-1 naiLbuze+u5 / 25
pO 4260+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (2,15,2)

X~ 1wz 191e+04 / 25
-, po 4248+ 0.0
[ p1 -35.48+ 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 15 6

T b ze+V4 [ 25
e pO 4257+ 0.0
[ pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

T UL 3/be+U6 / 25
= po 4312+ 0.0
[ p1 -37.14+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 15 14

T rnuig.4z3e+U5 / 25
pD 4274+ 0.0
-35.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT 1nuz41/e+u4 /25
- po 4254+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 15 7

=iy 80 se+04 | 25
= po 4267+ 0.0
p1 -35.91+ 0.00

=

TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuiL1uYe+U6 / 25
po 4283+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 15

T nug.ub/e+us/ 25
4258+ 0.0
-33.04+ 0.00

[ C=30.26 [ps/ch] ™=, ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

1000
N 1
o 1
wof C = 29.53 [ps/ch] ™, 7

0 5:) 10'0 -

4000

3000

2000

1000

TVC(cbch) (3,0,0

A~ 1nuig 3sae+04 | 25
= po 4264+ 0.0
p1 -37.96+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4

- rnu5g/e+u4 [ 25
== po 4276+ 0.0
pl -37.48 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 0,8

_ -1 i, Asoe+ud | 25
e po 4222+ 0.0
p1 -33.87+ 0.00

TP delay [ns]

TVC(Cbch) (3, O 12

Sruae “o3.01/25
= po 4294+ 0.4
p1 -35.38+ 0.01

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,01

AT 1 nuz,3uve+u4 | 25
- po 4233+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (3 0,5

- U b3ye+ud / 25
- pO 4267+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

T nuw./51e+U5 / 25
pO 4255+ 0.0
p1 -34.41+ 0.00

[ C =29.06 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

T nuig zzoe+U5 [ 25
= pO 4276+ 0.0
-35.53+ 0.00

TP delay [ns]

4000

2000

4000

3000

2000

:
10005— C =29.63 [ps/ch] ™. '
.

4000

3000
2000

1000

TVC(cbch) (3,0,2)

1000

TP delay [ns]

TVC(cbch) (3,06

1000

X~ 1 iz 8yse+ud | 25
-, po 4253+ 0.0
L pl -37.03+ 0.00

3000

- 11Uy .418e+04 / 25
- pO 4290+ 0.0
[ p1 -37.92+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

_ - I nui514e+U6 / 25
o=, po 4243+ 0.0
3 pl -33.74 + 0.00

TP delay [ns]

TVC(Cbch) (3, 0 14

T z53e+U5/ 25
- pD 4286+ 0.0
L pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

A1 nuig, 151e+ud / 25
- po 4260+ 0.0
pL -37+ 0.0

TP delay [ns]

TVC(c,b ch) (3 0,7

= nuiL Z17e+05 / 25
= po 4296+ 0.0
p1 -37.82+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

- T 1U4e+u6/25
- pO 4253+ 0.0
p1 -34.48 + 0.00

[ C=29.00 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T nuis.u/e+U5 / 25
=3 4266+ 0.0
-34.48 + 0.00

[ C =29.00 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

X~ 1 iz usbe+U4 [ 25

=3 po 4240+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (31,4

T Zzuse+ud /25
e, pO 4259+ 0.0
pl -35.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

— 1 Zobe+u4 | 25
= pO 4246+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (31,12

Tz 1r4e+04 /25
fe- 4270+ 0.0
-34.6 + 0.0

[ C =28.90 [ps/ch]

PR B SRS |
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT 1nu2zo/e+ud [ 25
=3 po 4247+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nu.435e+04 [ 25
e pO 4246+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 nui, 7bbe+u5 / 25
- pO 4248+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

T nui gyse+us / 25
= pO 4276+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

AT 1nugs40e+04 /25
- po 4238+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,1,6

-1z Bobe+u4 / 25
e pO 4265+ 0.0
[ pl -36.08+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

1 nuiL 189e+U6 / 25
- po 4240+ 0.0
o pl -34.69 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

- 1 a2 59pe+U5 / 25
= pD 4260+ 0.0
L p1 -35.49 + 0.00

3000

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT 1z 3sse+u4 [ 25
- po 4260+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nui 215e+U5 / 25
- pO 4274+ 0.0
p1 -36.46 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

- T, 114e+u6125
= po 4258+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (31,15

T inan 3.00e+U5 /25
= pO 4269+ 0.0
p1 -35.05+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000
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pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nuisp3/e+U5 / 25
po 4287+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(C, bch) (3,213

Tinun 1 o3e+us /25
pO 4280+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

A~ 1 nuigouye+ud / 25
- po 4256+ 0.0
L pl -37.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

T g z13e+u4 / 25
4260+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

© 1 nuiLb19e+U6 / 25
= po 4323+ 0.0
L pl -37.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,214

~ L gzse+Us / 25
4272+ 0.0
-35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3

A1 nwuiz443e+04 [ 25
- po 4256+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c,b ch) (3 2,7

-1 nui UL/e+u5 / 25
- pO 4261+ 0.0
pL -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 2

S 14ue+u6/25
po 4313+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(C, bch) (3,215

-1 nuiz oose+Us / 25
pO 4286+ 0.0
p1 -35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A~ 1 nuidore+04 [ 25
= po 4246+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(cbch) (3,34

[ C =29.26 [ps/ch]

i Lbse+ud 25
== po 4265+ 0.0
pl -34.17 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

©1nug.4o0e+04 / 25
= po 4267+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T g, szse+U5 / 25
po 4283+ 0.0
p1 -35.7+ 0.0

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,3,1)

A7 1 nuiLbsye+u4 / 25
po 4256+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

S nun Z1ze+04 /25
po 4280+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

Tinuar 5pe+U5/ 25
pO 4268+ 0.0
p1 -34,56 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

1 nuiz sbve+u5 / 25
pO 4286+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

A~ 1 nui ygse+u4 | 25
po 4271 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(cbch) (3,36

1000

T iy 18/e+04 [ 25
pO 4288+ 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 3, 10

T 13oe+U6 /25
po 4293+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,314

~ i 1n4e+05 / 25
pD 4271+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

A~ 1 nuiL5z5e+U4 [ 25
Fem, po 4269+ 0.0
pL -34.51+ 0.00

C =28.98 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

= Ui a30e+U5 / 25
po 4300+ 0.0
pl -34.47 + 0.00

-

[ C=29.01[ps/ch] %,
o+ o

TP delay [ns]

TVC(c,b ch) (3, 3

T mze+u6/25
pO 4293+ 0.0
-36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

71 nuis so0e+U5 / 25
pO 4290+ 0.0
p1 -36.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

A7 nuiLss0e+u4 / 25
- po 4253+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (34,4

- i by1e+ud / 25
- pO 4286+ 0.0
p1 -36.04 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

©rnuiLgr4e+05 / 25
PD 4262+ 0.0
p1 -34.24 + 0.00

TP delay [ns]

TVC(cbch) (3,4,12

1 up,use+Us / 25
pO 4286+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3.4,1

A” 1 nuiLyooe+ud [ 25
peee. po 4249+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

- 1nu Zo3e+ud [ 25
- pO 4291+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

~ 1 nuiL 3bbe+u6 / 25
- po 4273+ 0.0
p1 -34,66 + 0.00

TP delay [ns]

TVC(C, bch) (3,4,13

T inug s13e+U5/ 25
pO 4275+ 0.0
-37.15+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,4,2)

A~ 1nug zore+u4 /25
- po 4244+ 0.0
L pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

-1, 033e+u4 / 25
- pO 4300 0.0
[ pl -37.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T a1 /be+U6 / 25
DO 4279+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (3,4,14

~ 1y 5s4e+U5 / 25
DD 4274+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT 1L/ roe+u4 [ 25
oes, po 4266+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- nu 118e+05 / 25
— pO 4301% 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T ‘J/be+U4/25
po 4302+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(C, bch) (34,15

T nup,/13e+U5/ 25
po 4274+ 0.0
-35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

RRALETE 24%4—04 125
4000 . pD 4295+ 0.0
pL -34.92 + 0.00

3000 - 7

2000 7

wor C =28.63 [ps/chl ™, 7

-
.
1 1
0 50 100

4000

3000

2000

1000

TVC(cbch) (3,5,0

K™ 1nuinsie+ud /25
- po 4258+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

-1 nuz,049e+04 / 25
- pO 4271 0.0
pl -35.32:+ 0.00

TP delay [ns]

TVC(cbch) (3 58

TP delay [ns]

TVC(cbch) (3,5,12

© 1 up.B33e+U5 / 25
e, po 4342+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

T Lze+ud [ 25
- pO 4285+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (3 55

~nu 1bze+u4 [ 25
= 4259+ 0.0
-34.65+ 0.00

[ C =28.86 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

Tinuy.13/e+U5/ 25
po 4315+ 0.0
pl -35.17 + 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,13

T a2z rye+u5/ 25
- pO 4333+ 0.0
-36.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

4000

3000

2000

1000

- 1):;e+06/25

4000 _— pO 4326+ 0.0

L pl -34.69 + 0.00
3000 -— N
2000 -— _-
oo C = 28.83 [ps/ch] ™. 7]

- - o

[ _

1 1
0 50 100

4000

3000
2000

1000

TVC(cbch) (3,5,2)

1000

TP delay [ns]

TVC(cbch) (3,56

A7 1 nuiz.uzye+ud / 25
__ po 4290+ 0.0
- pl -35.86+ 0.00

3000

- Bs3e+u4 [ 25
fo, pO 4262+ 0.0
[ pl -34.32+ 0.00

- C = 29.14 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

TP delay [ns]

TVC(cbch) (3,5,14

- 1w yuge+Us / 25
- pD 4334+ 0.0
L pl -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1 nuz.zoze+ud [ 25
s, po 4297+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nuz.01Ye+us / 25
- pO 4270+ 0.0
p1 -34.24+ 0.00

[ C =29.21 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T b‘Jée+U6/25
pO 4331+ 0.0
p1 -34.77 + 0.00

[ C =28.76 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nunplze+U5/ 25
- pO 4344+ 0.0
-36.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0)

X~ 1w 510e+U4 /25
po 4230+ 0.0
p1 -34.13+ 0.00

[C=29.30 [ps/ch] ™, 1
_ e
TP delay [ns]
TVC(cbch)(364) -
1 35 /e+U4 / 25
e, pO 4300@
pl -36.69 + 0.00
- C =
o+ o
TP delay [ns]
TVC(c,b ch) (3 6,8

1 nuz, 39pe+Us / 25
po 4282+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T rnuiL4sse+u4 / 25
4278+ 0.0
-35.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1)

[ C =28.90 [ps/ch]

AT nuiLBsbe+u4 /25
po 4243+ 0.0
p1 -34.6 + 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

< nun Zy3e+ud [ 25
po 4316+ 0.0
pl -37.49  0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T a7 8e+u6 / 25
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p1 -34.65+ 0.00
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po 4265+ 0.0
pl  -36.2%0.0

- 1nuz134e+04 / 25
= pO 4225+ 0.0
3 pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (6, 13 10

4000

3000

2000

1000

T nuiz.z11e+u5/ 25
-, po 4265+ 0.0
- pl -33.79+ 0.00

- C = 29.59 [ps/ch] ™. 1

0

1
50 100

TP delay [ns]

TVC(cbch) (6,13, 14

4000

3000

2000

1000

T rnuigzz1e+04 /25
pD 4256+ 0.0
pl -34.75+ 0.00

- C = 28.78 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,13,3)

AT rnuzusie+ud [ 25
po 4271+ 0.0
pl -36.29 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (6,137

- 1nuz.uzze+u4 / 25
pO 4250+ 0.0
pL -35.61+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (6, 13 1

T nuiL /bge+us / 25
po 4288+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(cbch) (6.13,15

1 nuiz.quse+ud / 25
po 4257+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =,

3000

2000

1000

TVC(CbCh) (6, 14 0)

© L yuse+u4 / 25
= pO 4256+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(Cbch) (6, 14 4

= 1L (Qpe+ud [ 25
=5 po 4258+ 0.0
pl -35.26 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 14 8

- nugylle+us | 25
e pD 4233+ 0.0
pl -33.77+ 0.00

[ C =29.62 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 14 12

- rnuig.usse+Us / 25
po 4259+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

AT 1 nuiLy/ve+u4 | 25
= po 4256+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 5

-1 nu 149e+04 [ 25
- pO 4266+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14

~ 1 nu 334e+U5 / 25
pO 4249+ 0.0
p1 -33.87 £ 0.00

TP delay [ns]

TVC(c,b ch) (6, 14 13

— T a1 /oe+U5/ 25
= pO 4246+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000 =
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (6,14,2)

A1 zuye+ud | 25
-, po 4260+ 0.0
[ p1 357+ 0.0

3000

TP delay [ns]

TVC(c,b ch) (6, 14 6

- rnuz1p1e+04 / 25
4279+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(e.b,ch)=(6, 14, 10

T nuiLyroe+U6 / 25
po 4253+ 0.0
p1 -33.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 14 14

- 1L gove+Us / 25
pD 4267+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

po 4279+ 0.0
pL -35.44 + 0.00

A~ nuizzoze+u4 [ 25

TP delay [ns]

TVC(c,b Ch) (6, 14 7

= po 4293+ 0.0
p1 -36.77 + 0.00

=1 nui uy3e+us / 25

50 160
TP delay [ns]

TVC(e.beh)=(6, 14, 11

po 4257+ 0.0
pL -34.47 + 0.00

1 UL 452e+U6 / 25

TP delay [ns]

TVC(cbch) (6, 14 15

E pO 4254+ 0.0

1 nuz,543e+U5 / 25

35.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 15 0)

T, rzve+u4 [ 25
pO 4205+ 0.0
p1 -35.93 + 0.00

TP delay [ns]

TVC(Cbch) (6, 15 4

S InuILS7 e+04 [ 25
po 4225+ 0.0
pl -34.34+ 0.00

[ C=29.12 [ps/ch]™,_ ]
o+ o
TP delay [ns]
TVC(c,b, ch) (8, 15, 8) i
<1 nuig pobe+ud 5
e, pO 4265:‘
-33.83+ 0.00

[ C =29.56 [ps/ch] ™.

0

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 15 12

- 1 nuiz sy5e+u4 [ 25
po 4345+ 0.0
p1 -37.08+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

AT 1 nuiL ro3e+uU4 [ 25
po 4206+ 0.0
p1 -34.91# 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (6, 15 5

[ C =29.51 [ps/ch] 7]

T nun1.48e+04 /25
po 4237+ 0.0
pl -33.89 % 0.00

50

1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

[ C =29.10 [ps/ch]

-1 nuis.oY0e+u4 / 25
pO 4283+ 0.0
-34.36 + 0.00

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 15 13

-1 nuiz.quve+ud 25
pO 4337+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

TVC(CbCh) (6,15,2)

A~ 1 nuiolae+ud [ 25
po 4212+ 0.0
p1 -35.11+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 15 6

- b1ge+ud [ 25
pO 4249+ 0.0
p1 -34.78 0.00

10‘0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

- C = 28.98 [ps/ch] ™.

-t 5 Ze+U4 [ 25
pO 4305+ 0.0
pL 345+ 0.0

0

50

1
100

TP delay [ns]

TVC(c,b Ch) (6, 15 14

~ g zode+u4 | 25
pD 4335+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,15,3)

A~ nuiL, r85e+u4 [ 25
po 4231% 0.0
pL -35.9.+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (6, 15 7

[ C=29.69 [ps/ch] “.

-1 nui bU3e+u4 / 25
pO 4251+ 0.0
p1 -33.68+ 0.00

50

1(;0
TP delay [ns]

TVC(e,beh)=(6, 15, 11

[ C =29.54 [ps/ch] ™. ]

-1 nuiL usbe+us / 25
po 4293+ 0.0
pl -33.86 + 0.00

_L
50

1
100

TP delay [ns]

TVC(cbch) (6, 15 15

- 2 z5e+ud | 25
po 4343+ 0.0
p1 -36.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

T zuae+ud /25
4251+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (70,4

[ C =29.22 [ps/ch]

-1z zu9e+u4 [ 25
- pO 4230+ 0.0
pl -34.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

<o zgbe+ud [ 25
- PD 4265+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (7,0,12

TanuiLs/e+U5/ 25
= PO 4295+ 0.0
pl -37.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AU 3y re+ud [ 25
- Y 4252+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

~nun z.48e+04 [ 25
- DU 4248+ 0.0
pL -34.96 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

S/ zoe+ud | 25
- DO 4268+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

Ty 51oe+u4 [ 25
F= pO 4288+ 0.0
pl -37.05+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,0,2)

X~ 1z bzie+U4 [ 25
po 4262+ 0.0
pl -36.31 0.00

TP delay [ns]

TVC(cbch) (7.0,6

- C = 29.08 [ps/ch]

-1 nuBuze+ud | 25
- pO 4240+ 0.0
I pl -34.38:+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

T rnug 37 e+U5 /25
- DO 4300+ 0.0
L pl -36.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,14

T, gzoe+U5 / 25
- PD 4295+ 0.0
F pl -37.96 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

A7 1 nuiz,Byve+u4 25
- po 4254+ 0.0
p1 -35.99 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

[ C =28.72 [ps/ch]

-1 nug 2upe+u4 / 25
- PO 4265+ 0.0
pL -34.82+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, O

AR b/ze+u5/25
- pO 4293+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

-1z, 1oge+us / 25
- pO 4300+ 0.0
pl -37.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,0)

X~ 1L yioe+U4 /25
PO 4233+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

T i 74/e+04 [ 25
pO 4280 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 1,8

1nuz 3ove+u4 | 25
PD 4283+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (7,1,12

~ o 4.u4e+04 [ 25
PO 4279+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,1)

AT 1 nuiLyzye+u4 [ 25
po 4248 + 0.0
p1 -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,5

-1 nui glze+u4 / 25
pO 4273+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

[ C =29.03 [ps/ch]

T a7 /4e+04 25
DO 4291% 0.0
pl -34.44+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.1,13

T nuagse+ud [ 25
PO 4277+ 0.0
-35.32+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

2000

1000

X~ 1 nuizuave+u4 [ 25
- PO 4250+ 0.0
I pl -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (7.1,6

4000

3000

2000

1000

© 1 nuz.440e+04 [ 25
- pO 4288+ 0.0
L pl -35.59+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

FC =30.23 [ps/ch] “=._ ]

~ 1 nu bg3e+U5 / 25
™= DO 4293+ 0.0
L pl -33.08:+ 0.00

0

1 1
50 100

TP delay [ns]

TVC(cbch) (7.1,14

4000

2000

1000

-, foe+ud [ 25
- PD 4282+ 0.0
I pl -35.71+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

A7 1 nuiz,5une+u4 [ 25
PO 4279+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 nu 3be+u4 / 25
- PO 4296+ 0.0
pL -35.82.+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

1)
~ 1 nug, 1ybe+U5 / 25
™ p0 4307 0.0
pL -34.43+ 0.00

C =29.05[ps/ch] ™. 1

1
50 100

TP delay [ns]

TVC(cbch) (71,15

T 1wy gobe+u4 [ 25
- PO 4282+ 0.0
pl -35.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

po

X~ 1L sr3e+U4 /25
4263+ 0.0
p1 -36.11 + 0.00

TP delay

TVC(cbch) (72,4

[ns]

= 2 re+u4 /25
- pO 4242+ 0.0
pl -35.18 + 0.00
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (7,2,8)
© 1 nug.400e+04 / 25
== 4292+ 0.0
pl -37.39+ 0.00

TP delay

TVC(cbch) (7,212

pO

[ns]

~ i, r9ve+U5 / 25
4267+ 0.0
pl -35.91+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1)

po

x- 1L 914e+U4 | 25
4247 + 0.0
-36.07+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 2,5

SnunzZ ze+u4 | 25
4262+ 0.0
-35.99 + 0.00

TP delay [ns]

TVCebeh)=(7,2,9

pO
pl

T nuig.yy/e+us / 25
4286+ 0.0
-35.29 + 0.00

TVC(c,b Ch) (7, 2 13

TP delay [ns]

T inuibize+u5 /25
4265+ 0.0
-35.67 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7,2,2)

. po

A~ 1 nui ygse+u4 | 25
4257+ 0.0
p1 -36.47 £ 0.00

TP delay

TVC(cbch) (7,26

pD
pl

[ns]

- rnuzg3le+ud [ 25
4242+ 0.0
-34.43 + 0.00

- C = 29.05 [ps/ch]

50 10'0
TP delay

TVC(c,b, ch) (7, 2 10

[ns]

1 nuiL2yse+U6 / 25
4298+ 0.0
-36.5+ 0.0

1
100

TP delay

TVC(cbch) (7,214

[ns]

Tz r3e+05 /25
4276+ 0.0
pl -35.35+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.2,3)

e po

pl

AT 1 nuz419e+04 [ 25
4269+ 0.0
-35.98+ 0.00

TVC(c,b ch) (7 2,7

- pO
p1

1
100

TP delay [ns]

S nun, /11e+04 / 25
4266+ 0.0
-35.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7,2,

T 455e+u6/25
4304 £ 0.0
-37.31+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, 2 15

T nug.g0/e+U5/ 25
4278+ 0.0
-35.42+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A7 1 nuiLguye+ud / 25
4243+ 0.0
-35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- i1 88e+u4 [ 25
4235+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7 3,8

1 nuzpuge+u4 | 25
4252+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(cbch) (7,312

pO
p1

T 1u1e+Us / 25
4269+ 0.0
-36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

A 2

= PO
p1

vie+ud /25
4254+ 0.0
-37.12+ 0.00

TP delay [ns]

TVC(c,b ch) (7,3,5

PSRl

15e+04 / 25
4246+ 0.0
-36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

= po

T 1 nuig zobe+u5 / 25
4266+ 0.0
-36.55 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

= pO

T nur.a3qe+u4 / 25
4260+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

- po

p1

A~ 11/e+ud [ 25
4259+ 0.0
-36.19+ 0.00

TP delay [ns]

TVC(cbch) (73,6

= pO

pl

- rnuz.z1oe+u4 [ 25
4249+ 0.0
-35.78 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

- DO

1 nu, gEYve+Us / 25
4282+ 0.0
-36.85+ 0.00

pl

TP delay [ns]

TVC(cbch) (7.3 14

pD
p1

T rnuiLzs1e+Us / 25
4263+ 0.0
-35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,3,
E o
pl

3

nuiz.Zrve+u4 | 25
4259+ 0.0
-36.37 + 0.00

TVC(c,b ch) (7 3,7

-

1
100

TP delay [ns]

nuz 393e+u4 / 25
4252+ 0.0
-35.28 + 0.00

E-. po
pl
[ C =28.35[ps/ch] ]
se T
TP delay [ns]

TVC(c,b ch) (7, 3

= pO

ERALCR a54e+u5/25
4287+ 0.0
-36.48 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (7,3,

X1

15

nuiLb3ve+us / 25
4275+ 0.0
-35.74+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (7,4,0

A~ nuig Szye+u4 | 25
e, po 4245+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(cbch) (7 4,4

- 1wz, 045e+04 [ 25
=5 po 4268+ 0.0
pl -35.63+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7,4,8

- s Ayse+ud | 25
= po 4268+ 0.0
-34.79+ 0.00

10r C =28.74 [ps/ch]™_ 7
1 1 -
0 50 100
TP delay [ns]
TVC(Cbch) (7, 4 12)
- g, ssze+U5 / 25
4000 [ pO 4267400
pl -359+ 0.0

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,1)

T zoge+ud [ 25
= pO 4240+ 0.0
p1 -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

-1 nu 1yye+u4 [ 25
- pO 4269+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (7.4,9

T inun1.uye+u6 / 25
= po 4277+ 0.0
p1 -34.79.+ 0.00

I C =28.74 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (7, 4 13

T nuizz3e+u5 [ 25
4274+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(cbch) (7,4,2)

4000

2000

1000

X~ 1z, ryse+u4 | 25
- po 4248+ 0.0
[ p1 -35.82+ 0.00

3000

TP delay [ns]

TVC(Cbch) (7 4,6

4000

3000

2000

1000

-1z 450e+04 [ 25
- pO 4282+ 0.0
[ pl -36.61+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

4000

3000

2000

1000

T nuiLulle+u6 / 25
- po 4292+ 0.0
N pl -34.49 % 0.00

- C = 29.00 [ps/ch] ™.

0

50

1
100

TP delay [ns]

TVC(cbch) (7.4,14
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-1 nuz zove+Us / 25
pD 4263+ 0.0
pl -35.59 + 0.00
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TVC(cbch) (7,4,3

A1 nuiz ry1e+ud [ 25
- po 4252+ 0.0
pL -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

= 1 nu Oyve+ud / 25
= po 4289+ 0.0
p1 -36.79 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7,4,

1)
T nuin31e+U6 / 25
= 4290+ 0.0
-34.78 + 0.00

[ C =28.76 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (7, 4 15

1 nuis z49e+U5 / 25
4286+ 0.0
-36.83+ 0.00

TP delay [ns]
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TVC(cbch) (7,5,0

A~ 1 nui osoe+u4 /25
e, po 4242+ 0.0
p1 -34.89+ 0.00

TP delay [ns]

TVC(cbch) (7,54

[ C =29.06 [ps/ch]

- 1L Seye+ud [ 25
== po 4244+ 0.0
pl -34.42 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 5,8

-z bave+ud | 25
e, po 4263+ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(Cbch) (7, 5 12

-1y Soe+ud | 25
= po 4292+ 0.0
p1 -36.38+ 0.00

TP delay [ns]
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TVC(cbch) (7,51

A1 Ui psae+ud [ 25
e, po 4249 0.0
pL -35.14 £ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

=1 nui Yobe+u4 [ 25
- pO 4266+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (7 59

T nuiLp41e+U5 / 25
= po 4273+ 0.0
p1 -36.67 £ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 5 13

~ 1 nup.u44e+ud 25
= pO 4294+ 0.0
p1 -36.54 + 0.00

TP delay [ns]
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1000

TVC(cbch) (7,5,2)

X~ 1 i 9use+u4 [ 25
F-. po 4269+ 0.0
[ p1 -35.74 £ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- nu,20pe+u4 / 25
fo, pO 4260+ 0.0
- pl -34.88 + 0.00

TP delay [ns]

TVC(eb,oh)=(7, 5, 10

Ty zg1e+Us / 25
= po 4285+ 0.0
[ p1 -36.26 + 0.00

TP delay [ns]

TVC(cbch) (7,5,14

Ty prze+ud | 25
- pD 4298+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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1000

TVC(cbch) (7,5,3

A~ 1 L gsse+ud [ 25
e, po 4274+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 57

< nun Zge+ud [ 25
= po 4272+ 0.0
p1 -35.19 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

T 1b4e+u6/25
= pO 4286+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5 15

T nuib1ve+u5 /25
= po 4279+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

X~ 1 ss1e+U4 /25
e, po 4285 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7.6,4

4000

- 1wz 39se+u4 [ 25
=5 po 4262+ 0.0
pl -35.28 + 0.00

3000~ ]
2000 - ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (7.6,8)
© i, (gye+u4 / 25
4000 [ pD 4242+ 0.0
-33.93  0.00
3000 - 7
2000 - 7
o C =29.47 [ps/ch] ™, 1]
. -

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

©rnug.uzse+u4 | 25
= po 4253+ 0.0
pl -32.33+ 0.00

[C=230.93 [ps/ch] - ]

1 "
= 100

TP delay [ns]
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1000
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1000

TVC(cbch) (7.6,1

A1z 4o (e+U4 ] 25
e, po 4287 + 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (7 6,5

T rnuzyr3e+ud [ 25
- pO 4281+ 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nuigzz3e+u5 / 25
= 4271+ 0.0
-34.93 + 0.00

[ C =28.63 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T 1 nug bove+ud 25
pO 4289+ 0.0
p1 -35.24 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,6,2)

X~ 1 iz 18be+u4 [ 25
. po 4280+ 0.0
[ p1 -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

T nug,3z0e+04 / 25
- pO 4295+ 0.0
- pl -36.11 + 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

1 nuy.y4ge+Us / 25
- po 4292+ 0.0
N p1 3557+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 14

- 5zevud 125
= pD 4304+ 0.0
L pl -36.41+ 0.00

TP delay [ns]
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TVC(cbch) (7,6,3

A1z 448e+04 | 25
- po 4298+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(c,b ch) (7 6,7

= 1nug, 754e+04 | 25
[=s, po 4309+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (7, 6

S UbE+U6/25
= pO 4278+ 0.0
p1 -34.72+ 0.00

I C =28.80 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T 1nui s8ye+U5 / 25
= pO 4293+ 0.0
p1 -35.46 + 0.00

TP delay [ns]
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TVC(cbch) (7,7,0

K71 nun syae+u4 [ 25
i po 4261+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (77,4

T zzse+04 [ 25
- pO 4258+ 0.0
p1 -34.75+ 0.00

[ C =28.78 [ps/ch]

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7,7,8

T, ruse+u4 | 25
= po 4272+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

Tz, 138e+05 / 25
4278+ 0.0
-37.3+ 0.0

-
TR
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TVC(cbch) (7,71

AT rnuzizie+ud [ 25
- po 4275+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

-1 nu.433e+04 [ 25
- pO 4270+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1 nuig.z44e+05 / 25
= po 4283+ 0.0
pl -35.82 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

~ 1 nuiLybse+u5 / 25
- pO 4279+ 0.0
p1 -37.58 + 0.00

TP delay [ns]
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TVC(cbch) (7,7,2)

- C = 28.61 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

-1 goze+u4 [ 25
- pO 4289+ 0.0
[ pl -36.13+ 0.00

A7 1 nuig zsae+04 [ 25
. po 4273+ 0.0
L pl -34.95+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

1000

©nuy.413e+05 / 25
-, po 4287+ 0.0
- pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (7,7,14

TrnuiLzrze+05 /25
4275+ 0.0
-36.61+ 0.00
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TVC(cbch) (7,7,3

AT 1z osze+ud [ 25
Fe==. po 4279+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

- nub, 116e+04 / 25
- pO 4290+ 0.0
pL -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
Tonan115e+u6 / 25
- po 4295+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T inuiz143e+U5/ 25
- po 4276+ 0.0
p1 -37.04+ 0.00

TP delay [ns]
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TVC(cbch) (7,8,0)

A7 1 nuiz.uyoe+ud / 25
4220+ 0.0
-35.92+ 0.00

TP delay [ns]

TVC(cbch) (7,84

- i gsze+ud [ 25
4237+ 0.0
-35.56 + 0.00

peee. pO
pL
Fc E
| , =
50 100
TP delay [ns]
TVC(cbch) (7,8,8)
T a5 ye+ud /25
- pO 4252+ 0.0
pl -35.05 + 0.00

TP delay [ns]

TVC(cbch) (7,812

b po
p1

T ga/e+ud /25
4267+ 0.0
-37.2+ 0.0

-
1=

50 100

TP delay [ns]
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TVC(cbch) (7,8,1)

e, po

A7 1 nuzuy4e+u4 [ 25
4233+ 0.0
-35.45+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (7 8,5

E pO

pl

=1 nui Yoye+u4 / 25
4245+ 0.0
-35.94 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (7 8,9

po

pl

-1 nuiLzyve+us / 25
4273+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

- pO
p1

T nui ssae+u4 [ 25
4275+ 0.0
-38+ 0.0

TP delay [ns]
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TVC(cbch) (7,8,2)

b, po

A~ 1 nuiz.4uoe+u4 /25
4234+ 0.0
-35.3+ 0.0

pl

TP delay [ns]

TVC(cbch) (78,6

= PO

p1

©1nu.4n4e+04 | 25
4251+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (7, 8 10

2000 E T g 31)1e+u5 125

= pO 4249+ 0.0

[ pl -33.34 + 0.00
a000 T
2000~ 7]
oo C =29.99 [ps/ch] ™. 7]

- -- <4

1 1
0 50 100

4000
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1000

TP delay [ns]

TVC(cbch) (7.8 14

- PD

pl

Ty ge+ud [ 25
4287+ 0.0
-38.21+ 0.00

50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (7,.8,3)

e, po

pl

AT rnuzsa1e+u04 /25
4232+ 0.0
-34.66 + 0.00

TVC(c,b ch) (7 8,7

Fe=. pO
pl

1
100

TP delay [ns]

-1 U byye+ud / 25
4263+ 0.0
-36.47 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, 8

pO
pl

T g, U‘Jie+U5/25
4253+ 0.0
-34.71+ 0.00

[ C =28.81 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (7.8,15

= po

p1

1 nu, syae+ud 25
4284+ 0.0
-37.6+ 0.0

TP delay [ns]
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1000

TVC(cbch) (7,9,0)

K™ 1 nuzusae+ud [ 25
po 4240+ 0.0
pl -38.97 + 0.00

TP delay [ns]
TVC(cbch) (7 9,4)
T nu 3z4e+04 [ 25
= pO 42441 0.0
pl -36.95::‘
e E
1 1 -'
50 100
TP delay [ns]
TVC(cbch) (7,9.8)
T g z3ze+u4 | 25
= pO 4245+ 0.0
pl -34.57 :;‘
[ C =28.93 [ps/ch]™_ ]
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (7, 9 12

1 up, syse+u4 | 25
pO 4256+ 0.0
pl -34.84+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (7,9,1)

x- 1wz 2zae+04 | 25
po 4236+ 0.0
pL -36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (7 9,5

- 1nu (14e+04 [ 25
pO 4251+ 0.0
pL -36.37+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

T nup.bol1e+U5 / 25
po 4277+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(C, bch) (7,9,13

Tinun.s31e+U4 / 25
pO 4257+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (7,9,2)

K™ 1 nug ruse+u4 /25
- po 4252+ 0.0
[ p1 -37.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

-1 gh3e+ud [ 25
e pO 4255+ 0.0
[ pl -36.58+ 0.00

3000

TP delay [ns]

TVC(cbch) (7, 9 10

1nu g 11e+05 /25
4267+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (7,9,14

~ 1 nug.q0ze+04 / 25
-, pD 4256+ 0.0
L p1 -35.55+ 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,3

AT rnuzyyie+ud [ 25
= po 4245+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,7

-1 nug 438e+04 / 25
- pO 4259+ 0.0
pL -36.79+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 9

S UiE+U6/25
= po 4279+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,15

T inan szze+U5 / 25
pO 4290+ 0.0
p1 -37.74+ 0.00

TP delay [ns]
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TVC(CbCh) (7, 10 0)

T rnuizpzie+u4 [ 25
— pO 4209+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (7.10,4

-1z zo4e+u4 | 25
- pO 4260+ 0.0
pl -36.36+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

1 nuzpoye+ud | 25
= po 4269+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(cbch) (7.10,12

-1 nuiLyose+Us / 25
= po 4282+ 0.0
pl -35.89+ 0.00

TP delay [ns]
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TVC(chh) (7,10,1)

AT 1z 3ze+u4 125
- po 4217+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(c, bch) (7.10,5

= 11U bUbe+u4 / 25
- pO 4252+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 10,9

-1 nui pgze+us / 25
= po 4275+ 0.0
p1 -36.01+ 0.00

TP delay [ns]

TVC(cbch) (7.10,13

Tinana3e+ud [ 25
- pO 4281+ 0.0
p1 -36.4+ 0.0

TP delay [ns]
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A7 1 nuig syoe+u4 / 25
— po 4218+ 0.0
L pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (7.10,6

T, (44e+04 | 25
- pO 4283+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (7, 10 10

1 nuiL3y4e+U6 / 25
= po 4293+ 0.0
- pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (7.10,14

~ 1y puze+ud | 25
- pD 4271+ 0.0
L p1 -35.78+ 0.00

TP delay [ns]
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TVC(Cbch) (7,10,3)

AT 1z bsoe+ud [ 25
poes, po 4239+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c, bch) (7.10,7

- Uy blze+ud /25
- pO 4284+ 0.0
pL -36.66+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(7, 10, 11

~ 1 nu.usae+Us [ 25
= po 4279+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7.10,15

T nai1uze+U5 / 25
= pO 4280+ 0.0
p1 -36.35+ 0.00

TP delay [ns]
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TVC(CbCh) (7,11,0)

X~ 1w uLse+u4 [ 25
= po 4263 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(cbch) (7, 11 4

= InuZOZ1e+04 [ 25
=5 po 4251+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(chh) (7, 11 8

S nuiss ze+04 [ 25
= po 4265+ 0.0
p1 -35.08:+ 0.00

TP delay [ns]

TVC(c,b Ch) (7,11,12

X~ 1y ruse+Us / 25
= PO 4285+ 0.0
pl -35.83+ 0.00

TP delay [ns]
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TP delay [ns]

TVC(c,b Ch) (7, 11 5

U 119e+04 / 25
[ree, po 4275+ 0.0
-34.82 + 0.00

[ C=28.72 [ps/ch]

50 150
TP delay [ns]

TVC(cbch) (7,11,9

T nugsb/e+us / 25
- pO 4284+ 0.0
p1 -35.07 £ 0.00

[ C =28.51 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (7, 11 13

T inui soze+U5 / 25
- pO 4277+ 0.0
p1 -35.76 + 0.00

TP delay [ns]
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-, pO 4275+ 0.0
L pl -37.08 + 0.00
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TP delay [ns]

TVC(chh) (7, 11 6

T 33ze+04 [ 25
- pO 4278+ 0.0
[ 345+ 0.0

- C = 28.99 [ps/ch]

50 10'0
TP delay [ns]

TVC(e.b,ch)=(7, 11, 10

X~ 1 1y bgbe+Us / 25
- po 4293+ 0.0
- pl -35.99+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 11 14)

T Lo/e+u5/25
= pD 4286+ 0.0
[ p1 -36.31+ 0.00

TP delay [ns]
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